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AB = BC = 16(cm)

CH = 165in60° = 16 x ‘/75 — 8v3(cm)




T} 22 FHA A A-H T C A
A Atel9] 721 AltstAEY 220m
oltt. A A3 B A Aol o] Az

=7

o MW, oUW
o AW, o uWE,
Q=S

CH = 220 x sin 45° = 220 x ‘/Ti = 110 V2(m)
.CH=AH
g L 220%(111)

cos30° 3




the 1YL ofg Y P hERE o] 7
o171 Mmefolet. npgme] G wle] ol7t 2
2 uf, 9] Yolo] AFZHL?

® 162 @ 128 3 1282
@®)512 ® 5122

_ 1
360° + 8 = 45° o]|BE 2 utEH st 9] Holk 2 x . X 2 X
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(DABCD 9] Ho])= AABD + ABCD
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AABC 9] Ho]= 5><8><12><sim60°=24«/5
G 7} B2AFA 22 BD=DC, AG:GD=2:1

AABD = %AABC =123

ABGD = %AABD:%XH\B:AL\B
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OA =0D = OC, AD = CD = AAOD = ACOD(SSS &%)
/AOC = 60° |22 /AOD = /COD = 30°
OABCD 9] Y o]= AAOD + aCOD + ABOC

AAOD:ACOD:%x4x4><sin30°:4,ABOC:%x4x

4 x sin(180° — 120°) = 4 V3
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